Roll No.

(Write Roll Number from left side
exactly as in the Admit Card)

PAPER-II

Subject Code : 13

Signature of Invigilator

Question Booklet Series X

Question Booklet No.

(Identical with OMR
Answer Sheet Number)

GEOGRAPHY

Time : 2 Hours

Maximum Marks: 200

10.
11.

12.

Instructions for the Candidates

Write your Roll Number in the space provided on the top of this page
as well as on the OMR Sheet provided.

At the commencement of the examination, the question booklet will
be given to you. In the first 5 (five) minutes, you are requested to
open the booklet and verify it:

(i) To have access to the Question Booklet, tear off the paper seal
on the edge of this cover page.

(ii) Faulty booklet, if detected, should be got replaced immediately
by a correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(iii) Verify whether the Question Booklet No. is identical with
OMR Answer Sheet No.; if not, the full set is to be replaced.

(iv) After this verification is over, the Question Booklet Series and
Question Booklet Number should be entered on the OMR Sheet.

This paper consists of One Hundred (100) multiple-choice type
questions. All the questions are compulsory. Each question carries
two marks.

Each Question has four alternative responses marked:

@ © @ . You have to darken the circle as indicated

below on the correct response against each question.

Example:@ . @ , Where © is the correct response.

Your responses to the questions are to be indicated correctly in the
OMR Sheet. If you mark your response at any place other than in
the circle in the OMR Sheet, it will not be evaluated.

Rough work is to be done at the end of this booklet.

If you write your Name, Phone Number or put any mark on any part
of the OMR Sheet, except in the space allotted for the relevant
entries, which may disclose your identity or use abusive language or
employ any other unfair means, such as change of response by
scratching or using white fluid, you will render yourself liable to
disqualification.

Do not tamper or fold the OMR Sheet in any way. If you do so, your
OMR Sheet will not be evaluated.

You have to return the Original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with you
outside the Examination Hall. You are, however, allowed to carry
question booklet and duplicate copy of OMR Sheet after completion
of examination.

Use only Black Ball point pen.

Use of any calculator, mobile phone, electronic devices/gadgets
etc. is strictly prohibited.

There is no negative marks for incorrect answer.
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ParEr 11

(GEOGRAPHY)

1. Folds, where axial plane is inclined and both
limbs of the fold dip in the same direction, are called

(A) Plunging fold

(B) Asymmetrical fold
(C) Overturned fold
(D) Recumbent fold

2. Which among the following is not a hotspot?
(A) Easter Island
(B) Tristan da Cunha Island
(C) Réunion Island
(D) Cocos Island

3. Conservative plate boundaries are located

(A) along ocean-floor fracture zones

(B) between two destructive plate boundaries
(C) betweentwo constructive plate boundaries
(D) along continental faults like San Andreas

4. The Wilson cycle is a model that describes
(A) the mountain building phases
(B) the cyclic isostatic adjustments

(C) the stages of opening and closing of ocean
basins

(D) the stages of formation and destruction of
plates

1. (@ 4R SIS STHOHIL TS I8 SIS 10 A2

%3 M T, G 2=
(A) #ig o
(B) P wier
(C) SO wIE
(D) wEifTre O

2. a0 oY 7 T3
(A) B[ A
(B) faw 7l gzl @l
(C) FETR &
(D) (I Aol

3. FRITFONE SATSANN (T TS ?
(A) TESER SH7Y A
(B) %6 RSTNSF 2SHTIF ARGH
(C) 7o ST AT TR
(D) AR SfCsa Aol WA pfe a7

4. TP b&F -G 90 FE
(A) 7 e »R~ffw
(B) el swfzfoste Sy
(C) TR SETR RO 8 AR T
(D) #lited 7R @ @ oK™
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5. The following two lists show the factors and 5. Tiwe i oiferer s [Rasea g «ak
geomorphic processes. Match the factors with TafoulE MeTl 25 | AU WK AF TN Al T
corresponding processes they control . ”

O O
List-1 List-11 ([77) (S e 1%1o)
(Factors) (Geomorphic Processes) () @W i () G AP
(a) Topographic Gradient (i) Toposequence (b) TRl (2 T (i) O @ m PG
(b) Distance from water  (ii) Movement of ©) W'ﬁ% SFG@  (ifi) ITFCEA OISO
divide water and soil 5
(c) Geomorphic Threshold (iii) Ice crystal growth (d) =G eeEere w@wEl (iv) Eﬁﬁ?ﬁ?ﬁ? <5
stress
(d) Closed system (iv) Catastrophic @ ® © (@
environment events (A) 1 Gy @) 3[v)
Select the correct option from the following: B) (i) Gv) (@) (if)
() b)) (¢ (d) © (1) (i) (iv) (i)

A O G G ) ™o
B G G G
© O G (v G
® GG G G

6. ‘Exfoliation dome’ is developed mainly due to 6. G Y -2 AmNoH [ (O =
(A) pressure release stress resulting from (A) TNSITETS HIPIGAES G
denudation ]

. (B) RIS BloGe AT
(B) stress out of superincumbent pressure

(C) thermal gradient stress (C) I BleTeers A
(D) salt-crystal growth stress (D) TR IO MG
7. Inariverterrace,acontinuous stratum of pebbles 7. (I Tl 06 AifeTa BRI ey e fHeaitey

within layers of sands usually indicates that at the time
of its deposition

1w v i fofers weae

(A) ISt Bite fiiet Tifes

(A) landslide occurred from sideslopes

(B) the river was moving fast (B) b TOLAC! 2T
(C) the river was accelerating © BEERICERCECR T PG|
(D) sudden uplift of the riverbed or floodplain (D) TANCEr WL AR SIS TL

occurred qoIa




8. Assertion (A): Sinnosity of an alluvial river
decreases if slope increases due to tectonic movement.

Reason (R): Channel slope usually increases
downstream of an uplifting anticlinal axis.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

9. Assertion (A): Rate of erosion is less in the old
stage of normal cycle of erosion.

Reason (R): Entropy is maximised on the
peneplain

(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not
the correct explanation of (A).

(C) (A) is correct but (R) is not correct.
(D) (A) is not correct but (R) is correct.

10. Which of the following is a product of two
phases of erosion?

(A) Peneplain

(B) Panplain

(C) Etch-surface
(D) Exhumed surface

11. Air travel from London to New York involves
longer time than return journey because of

(A) Earth’srotationin anticlockwise direction
(B) Coriolis force

(C) SW Westerly wind

(D) Upper air jet stream
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(D) SIS o
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12. Isobars at 4 mb interval are drawn for an area
starts at 992 mb. Ground distance between these isobars
starting from 992 mb are —

35 km, 28 km, 22 km, 18 km, 24 km, 30 km,
38 km.

Between which two isobars, pressure gradient
will be the maximum?

(A) 1016 — 1020 mb
(B) 1004 — 1008 mb
(C) 1012 - 1016 mb
(D) 1016 — 1020 mb

13. Cloudburst is defined by IMD as rainfall of
(A) 250 cm/ hour
(B) 210 cm / hour
(C) 25 cm/ minute

(D) =2 cm/minute

14. ‘ENSO’ is a periodic fluctuation of
(A) 1-6 years
(B) 2-7 years
(C) 3-8 years
(D) 4-9 years

15. Dish-pan experiment relates to the formation of
(A) Polar vortex
(B) ENSO
(C) Rossby waves
(D) Easterly jet streams

X-6

12. 992 FNERIT (AT 9F I @IEN LT ANGIo
@Afer 4 Fiferare sreg wifEe 2o | 992 ffere (@ o
JR IAGI7 @SR M 73g 2T —

35 7w, 28 W, 22 %, 18 &%, 24 M,
30 ¥, 38 ff)

I 96 ATBIACIAIR S BIAGIE AR (@2
(A) 1016-1020 fSifera=
(B) 1004-1008 fiferara
(C) 1012-1016 Wi
(D) 1016-1020 iR

13. IMD 2we (3% Ot B Ae A JiR=iices #ifwiel
el

(A) =50 @If/<<T!
(B) > 10 GAfsi/9eG1
(C) =5 f/ffG
(D) >2 &/

14. ‘ENSO’ 39 1237 SI&d (3 S0T ?
(A) 1-63=F
(B) 2-73%d
(C) 3-83%F
(D) 4-93%3

15. G-l =1 @INH s1o0Ta A FAfFe 2
(A) (TR SIS
(B) ENSO
(C) IAT &%
(D) =<t (e &R



16. Following lists show some climatic phenomena
and associated features.

List-1
(Climatic phenomena)
(a) ENSO Events
(b) Thunderstorm
(c) Frontal instability

List-11
(Associated Features)
(i) Equatorial region
(i1) Baroclinic condition
(iii) Walker cell
(d) Atmospheric stability (iv) Barotropiccondition

Find the correct match among the following:

(@ (b © (@
@ @® Gy >Gv) (i)
B)  Gv) @) @ (G
© Gy @ @ aGv)
D) Gy ) Gv) @)

17. Assertion(A):Eyeofacyclone haslow pressure
in spite of descending wind.

Reason (R): Descending wind is warmed up by
adiabetic warming.

(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not
the correct explanation of (A).

(C) (A) is correct but (R) is false.
(D) (A) is not correct but (R) is correct.

18. Indian Ocean Dipole refers to (i)

surface temperature anomaly and affects
(i1) of countries that surround Indian Ocean
Basin.

(a) Sea, (b) Land, (c) Canopy, (d) Ice cover,
(e) Rainfall (f) Vegetation

(A) (i) — (b), (i) — (e)
B) ) — (o), (i) — ()
©) () — (), (i) —(d)
D) (@) — (), (i) — (e)
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(e) RIS, (f) eI Tfgn

(A) (i) — (b), (ii) — (e)
B) @) — (o), (i) — ()
©) @) — (a), () —(d)
D) (@) — (), (i) — (e)

[ Please Turn Over ]




13-11

19. Which of the following is not considered as
evidence in establishing climate change?

(A) Ancient ice cores
(B) Tree ring dating
(C) Lacustrine varves

(D) Radioactive isotope dating

20. Rainfalldistribution at global-scale in the recent
decades is altered due to

(A) alteration of Hadley cell of general wind
circulation

(B) alteration of Ferrel’s cell of general wind
circulation

(C) alteration of Polar cell of general wind
circulation

(D) alteration of entire global circulation
patterns

21. Relief difference between two sides of fracture
zones of ocean floors is best explained by

(A) Pratt’s theory of isostasy.
(B) Airy’s theory of isostasy.
(C) Transform faults.

(D) Mantle inhomoginity below the oceanic
crust.

22. Some of European coasts record sea-level fall.
It is because of

(A) upliftment of coastal landmass due to
isostatic rebound resulting from
deglaciation

(B) tectonic subsidence of sea floor
(C) expansion of ocean basin

(D) upliftmentof coastal land along convergent
plate margin

19. Sia @A Ty AfFadera e i Kafre
1?2

(A) AP TR

(B) I IS e Iz feigffzel

(C) 2z 7S »e7e1 ©r$

(D) (oG SBFNGICR Mg 7397 fefigel

20. Ar=ios mRRefRs R[N It I
ARTSE PR 7o

(A) T Y AT A 2HID 26w
(B) IRl Y AL (e LTI ARTIS
(C) LI Y AT (N AR ARIS
(D) LT Y A AN oA

21. TSGR ST FAIH THOIF ORI FHH
(I ©g FI1 AT A T T2

(A) 25-937 RS og

(B) wizfd-7 Mfzfe og

(C) FFrR s

(D) UG W (H TGS TPy

22. TR @INe @S TAF IARI AIToe
SRS 205, TR
(A) JTF ST T TGN AeTTeTS
TR FeTelo THie

(B) MTSHWCHT G- NIfeTF SIReTale]

(C) Teemed KB

(D) SIS AT R SoFA @I
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23. Inoceans,CaCO;compensation depthrelates to

(A) Death rate of marine macro-fauna

(B) Amount of carbonic acid present in
sea water

(C) ‘T —S’ gradient of water masses
(D) Water depth of > 2,000 m

24. Assertion (A): Two samples of ocean water can
have the same density at different combinations of
temperature and salinity.

Reason (R): Temperature and salinity of ocean
water varies with depth.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the
correct explanation of (A).

(C) (A) is correct but (R) is false.
(D) (A) is false but (R) is correct.

25. Thermohaline circulation of ocean water is
driven by which of the following factors?

(1) Heat

(2) Wind

(3) Rainwater

(4) Density
(A) (1) and (3)
(B) (1) and (4)
(©) (2) and (3)
(D) (3) and (4)

26. The positionsinside the ocean, which experience
no fluctuation of water level due to tide, are known as
(A) Amphidromic points
(B) Co-tidal points
(C) Diurnal tidal locations

(D) Semi-diurnal tidal locations
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27. In an estuary, tidal wavelength is primarily
determined by the estuary’s
(A) Length
(B) Average width
(C) Average depth
(D) Shape

28. Which of the following changes are observed as
wave approaches a coast?
(A) Bothwave-lengthand wave-period reduce.

(B) Both wave-velocity and wave-height
increase.

(C) Wave-velocity reduces and wave-hight
increases.

(D) Wave-length increases and wave-height
reduces.

29. Which of the following two statements are true
for a tsunami?

(1) It involves movement of water from
surface to sea-floor.

(2) Shoaling effect can greatly increase
wave-heights closer to coast.

(3) In the open ocean tsunami waves reach
greater heights.

(4) Speed of tsunami is controlled by wind
velocity.

(A) (1) and (3)

(B) (2) and (4)

(C) (1) and (2)

(D) (3) and (4)

30. Rip-cell circulations along the coasts are
developed
(A) dominantly by long-shore current
(B) dominantly by shore-normal current

(C) by the combination of shore-normal and
long-shore currents

(D) by the incident wave propagation

X-10
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31. The ratio between the energy flow at different
trophic levels along the food chain, when expressed as
percentage is called

(A) Ecological index

(B) Relative ratio of energy flow
(C) Energy flow efficiency

(D) Ecological efficiency

32. Which type of structure and function of living
system is maintained by its chemical, physical and
organic activities?

(A) Heterostatic
(B) Homeostatic
(C) Ecostatic
(D) Biostatic

33. Plants growing in marshes are called
(A) Halophytes
(B) Helophytes
(C) Heliophytes
(D) Hemophytes

34. Sustenance of ecosystem with abandance of
marine life in apparently nutrient-free and clear water
of the coral reefs is known as

(A) Zooxanthellae Effect
(B) Coral Flourish

(C) Darwin’s Paradox
(D) Cousteau’s Principle

35. Consider the following statements regarding
flow of matter and choose the correct option:

(1) Nutrient cycles closely parallel the routes
of energy flow within the biotic
components.

(2) The movement of materials is cyclic.
(3) The Nutrient cycle is conservative.

(A) Only (1) is correct.

(B) Only (2) is correct.

(C) (2) and (3) are correct.
(D) (1), (2) and (3) are correct.
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36. Principles of managing water and air pollution
rest on
(A) Concentration and Separation
(B) Dilution and Separation
(C) Dilution and Concentration
(D) Dilution, Washing and Distribution

37. Following lists show the techniques and types
of waste-water treatment

List-1
(Types of Treatment)

List-11
(Technique)

(a) Primary treatment (i) Comminutor

(b) Secondary treatment  (ii) Activated sludge
(c) Tertiary treatment (iii) Disinfection

Choose the correct match from the following
options:

(@ (b)) (o)
Ay ) G @
B ©O G (i)
© G G @
O O G a6

38. Presence of Arsenic traces in human body is an
example of

(A) Bio-filtration
(B) Bio-precipitation
(C) Bio-remediation

(D) Bio-accumulation

39. Which of the following is not an enacted act for
legal and regulatory framework in India?
(A) Wild Life (Protection) Act, 1972
(B) Biological Diversity Act, 2002
(C) Forest (Clearance) Act, 1980
(D) National Green Tribunal Act, 2010

X-12

36. & 3R AR el TR Ao s o] Fom Som few
I

(A) I @ 2LFF
(B) =TIl @ oAl

(C) T @ AFAIFA

(D) oTgFe, (HfoPae @ I+

37. 5] & LA 25fe ¢ eel Siwa o
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(a) AR AR (i) IEEEsR
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(A G) (i) @)

B @ G (>
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O O G 3

38. RIKE AEIE SR afiis @mba
TnfzRel ?
(A) RGN
(B) A=
(C) ARG

(D) QARETIFCET=IT

e e o

39. SIelT TR EE WEERS @Eh 4TS iz
e sege w1 ?

(A) STTTT F2FE (CAGI*N) =1, 1972
(B) TGS GRS =1, 2002
(C) =z (™) =01%, 1980

(D) Ti=iet T Gizgiet =g, 2010
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40. In COP-26 India has pledged to achieve Net
Zero by
(A) 2040
(B) 2050
(C) 2060
(D) 2070

41. Assertion (A): World population growth rate
was extremely slow in the
pre-historic period.

Reason (R):  Ittook over two million years of
human pre-history and history
for the human population to
reach one billion.

Codes:

(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is correct.

42. Identify the incorrect one from the following
statements regarding Demographic Transition:

(A) Both birth and death rates are balanced in
high stationary and low stationary stages.

(B) In the early expansion stage, the birth and
death rates tend to converge as birth rates
fall relative to death rates.

(C) Low population growth characterises both
high stationary and low stationary stage.

(D) The gap between birth and death rates
narrows down in the late expanding stage.
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(D) (A) &1 5 (R) 75 |

42. TR RS 7R} TifFe @im [RIfet ger
Bfze FEa
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43. Which of the following statements are correct?
Answer using the codes given below:

(a) Population census was carried out by the
Roman empire to count men of military
age and for tax collection.

(b) Census carried out at an individual’s
current address is called ‘de-jure’ method
of census data collection.

(c) Census carried out at person’s permanent
address is called ‘de-facto’ method of
census.

(d) First ever population census in India was
held in the year 1872.

(A) (a) and (b)

(B) (b) and (¢)

(C) (c) and (d)

(D) (a) and (d)

44. In which of the following indices does the
average number of daughters replace a given cohort of
women (their mothers)?

(A) Net Reproduction Rate
(B) Net Fertility Rate

(C) Gross Reproduction Rate
(D) Total Fertility Rate

45. Rural wage equals rural marginal product of
labour while urban wage is exogenously determined—
This is a key proposition made by

(A) Ernst George Ravenstein
(B) Everett Lee

(C) Arthur Lewis

(D) J. R. Harris and M. Todaro
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46. Which of the following statements made on the
meaning of rural-urban fringe is correct?

(A) A zone of transition between the
continuously built-up urban and sub-urban
areas of a city and its rural hinterland.

(B) A narrow sub-urban zone between a city
and the rural areas it serves.

(C) A concentric area between the city and its
suburbs.

(D) A partoftherural-urban continuum where
certain elements of urban structure are
found to occur.

47. Match the following and choose the correct
answer from the codes given below

List-1 List-11

(Pattern of Settlement) (Associated Factor)

(a) Star-shaped (i) Intensive cropping
(b) Nucleated (i) Convergence of a

number of roads
(c) Linear (iii) Hilly topography
(d) Dispersed (iv) Road,River, Canaletc.
Codes:

(@ (b @© (@
@A G (@) >Gv) (i)
B @O G @) (aGv)
©  Gv) G @) (i)
D) G @) aGv) 3D

48. Read the following statements and choose the
correct answer

1. Land use change is a process by which the
character of land is modified by human activities.

2. Land use change may affect the ecological
balance of the concerned area.

3. Land use change may even lead to atmospheric
temperature change.
(A) Only 3 is correct
(B) 1 and 3 are correct
(C) Only 1 is correct
(D) All the three (1-3) are correct

X-15
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49. Which of the following are the main
characteristics of a ‘Global City’?
1. Major international airport

2. Active influence on and participation in
international events

3. Trans-territorial in character
4. A minimum population working in the IT sector

(A) land3
(B) 2and 4
(C) 1,2and 3
(D) 1and 4

50. Assertion (A): Landusechangesinrural-urban
fringe are most prominent.
Reason (R):  Land aquisition is very easy in
the rural-urban fringe.

Codes:

(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
always the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is correct.

51. The following are statements about the world’s
energy crisis during 1970’s

1. The OPEC raised the price of oil from $1-5 to $7
per barrel in 1973.
2. The price shot-up to $24 by 1979.
. India experienced complete disruption of
imports, but no inflation.

4. The Iranian Revolution in 1979 added to the
disruption of oil supplies.

(98]

Select the correct answer from the codes given
below

Codes :

(A) 1,2and 4
(B) 2,3and 4
(C) 1and 4

(D) 1,2 and 3
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(D) (A) 7 %% (R) A< |

51. famferfie Ryfowl 1970-93 i 7S «fe
AR AFD HIFo

1. OPEC 1973 A (S ANEA foig i
$ 1.5 2= ATE $ 77|
2. 1979-93 NG WIS $ 24 27 |
3. SRS SImi TsiefeiE Rife ze Jurdifs
2 |
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267 ST @36 FIF |
fsfefis femafe s 7o Teal @ fom
e
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(B) 2,349k 4
C) 19xR4
(D) 1,24k 3




52. The quarternary sector of the economy is not
characterised by

(A) improvements of manufacturing processes
by the entrepreneurs

(B) encouraging constant innovations in
technology

(C) expansion of the knowledge economy
(D) expansion of ‘blue-collar’ job opportunities

53. Which one of the following statements
concerning Von Thunen’s model is correct?

(A) The agricultural location model
propounded by Von Thunen was developed
around the concept of rent.

(B) Von Thunen’s model was based only on
transport cost of the products from the
source to the market.

(C) Spatial variationin the level of soil fertility
was the main concern of the Von Thunen’s
model.

(D) On the basis of distance from the market,
Von Thunen recognised eight concentric
zones of agricultural land use.

54. Which of the following relations for measuring
Crop Diversification (CD) was devised by Bhatia?

— 2
(A) CD= 1220
(Zx)
(B) CD _Total cropped area under ‘x’ crops
~ Number of ‘x” crops
Percentage of total harvested
(C) CD = area under ‘n’ crops
Number of ‘n’ crops
(D) CD = Gross cropped area

Number of crops cultivated

55. Which of the following features of globalisation
have an adverse effect upon less-developed countries?

(A) Mobility of capital

(B) Greater mobility of labour

(C) Free trade agreements

(D) Re-cycling or re-using to reduce
environmental impacts

X-17
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56. The Four Asian Tigers experiencing rapid
economic growth since the 1960’s as industrial regions
are

(A) Singapore, Hong Kong, South Korea,
Taiwan

(B) China, Hong Kong, Taiwan, Singapore

(C) China, Singapore, Hong Kong, Japan

(D) Singapore, Hong Kong, North Korea,
Taiwan

57. The Gravity Model is used for travel demand
forecasting and does not imply —

(A) Trips produced at an origin are directly
proportional to the total trip production at
the origin.

(B) As travel time increases, travellers are
increasingly less likely to make those trips.

(C) The ‘“friction factor’ represents reluctance
of persons to make certain trips.

(D) It is assumed that there is no balance
between productions and attractions.

58. Following are some characteristics of regional
economic integration. Select the correct option.

1. It has reduced income gaps between countries
through convergence.
2. It has increased inequality within countries.

3. Different forms of connectivity favoured all
countries equally.

4. Small, isolated and vulnerable regions are in
adverse position in it.

(A) 1,2and 4
(B) 2and 4
(C) 1Tand 3
(D) 1,3and 4
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59. The Gangetic Plain as an agro-climatic region is
divided into the following subregions:
1. Upper and Lower Gangetic Basin
2. Lower,Middle, Upper and Trans-Gangetic Plain
3. Lower, Upper and Trans-Gangetic Plain
4. Upper and Trans-Gangetic plain
Select the correct answer from the codes given
below
(A) 1,2and 3
(B) only 2
(C) only 3
(D) 2and 4

60. Dependency theories seek to explain the distorted
character of development in
(A) Advanced economies
(B) Colonised regions
(C) Backward regions
(D) Regions with a high dependency ratio

61. Assertion (A) : Cultural traits are genetically

transmitted from one person
to another.

Reason (R) : Culture is accumulated and

transferred from one

generation to another through
language.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

62. Development of a new form of cultural trait by
the fusion of two or more distinct parental elements
results in

(A) Acculturation
(B) Assimilation
(C) Syncretism
(D) Integration

X-19
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63. According to the Ministry of Tourism, India,

majority of the tourist arrivals for medical purposes are
from

(A) Bangladesh and Nepal

(B) Bangladesh and Afghanistan

(C) Pakistan and Sri Lanka

(D) Pakistan and Myanmar

64. Cultural ecology refers to
(A) the study of human adaptation to the social
and physical environments

(B) the interpretation of human adaptation to
social and economic environments

(C) thestudy of human response to the physical
and economic environments

(D) the analysis of human modification of the
earth’s landscapes

65. According to census of India, 2011, in which of
the following religious categories, the proportion of
scheduled caste population is the highest?

(A) Buddhism
(B) Sikhism
(C) Hinduism
(D) Christianity

66. Assertion (A) : Majority of the tribal
population in India is
concentrated in areas not
having intensive cultivation.

: Shifting cultivation is
practised by the tribal
population.

(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is correct.

Reason (R)
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67. Which of the following statements are true?
Answer using codes given after the statements:

(a) Scheduled tribe population is negligible in their
presence in Ganga valley.

(b) Religions minorities have greater representation
in the population located in the geographical
periphery of India.

(c) All the tribal communities in North-East India

speak one or other languages belonging to
Sino-Tibetan family.

(d) Kerala has the highest concentration of
scheduled castes in its population.

Codes:

(A) (a) and (b) are correct
(B) (b) and (c) are correct
(©) (c¢) and (d) are correct
(D) only (a) is correct

68. A zone of varying width separating states in
which neither state exercises political control is a

(A) Boundary

(B) Buffer

(C) Frontier

(D) Line of Actual Control

69. boundaries result when a smaller state
is absorbed by a larger one or when former boundaries
between states are abandoned and redrawn.

(A) Superimposed
(B) Subsequent
(C) Antecedent
(D) Relict

70. The Montreal Protocol was primarily established
to

(A) Protect bio-diversity
(B) Protect ozone layer
(C) Protect wetlands

(D) Facilitate carbon trade
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71. Read the following statements and find out
which of these are correct using the codes placed after

the statements:
(a) Herodotus declared earth as a flat disc.

(b) Main contribution in the field of historical and
mathematical geography came from the Romans.

(c) Eratosthenes was the first to calculate the tilt of
the earth’s axis.

(d) Ptolemy accurately assumed the circumference
of the earth which helped sailors reaching Asia
by sailing West from Europe.

Codes:

(A) (a) and (c) are correct
(B) (b) and (d) are correct
(C) (c¢) and (d) are correct
(D) Only (a) is correct

72. Name the Arab geographer who used
trigonometry to calculate the Earth’s radius by
measuring the height of a hill.

(A) Al Biruni
(B) Al Idrisi

(C) Al Masudi
(D) Ibn Batuta

73. The organisation that was set up in 1956 for
publishing thematic maps of India was called
(A) Thematic Mapping Association of India
(B) National Atlas Organisation
(C) National Thematic Mapping Organisation

(D) National Atlas and Thematic Mapping
Organisation
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74. Match the following and choose the correct
answer from the codes given below:

List-1 (Author) List-1I (Book)
(a) Immanual Kant
(b) Richard Hartshorne

(¢) Richard Khun

i) Nature of Geography
ii) Physische Geographie

iii) Topophilia: A study
of Environmental
Perception, Attitude
and Values

(d) Yi-Fu Tuan iv) The structure of

Scientific Revolution
Codes:
@ ® © @
(A) i) i) iv) i)
(B) iii) i) iv) ii)
© iv) i) i) i)
(D) i) iv) i) iii)

75. Who amongst the following is not a feminist
geographer?
(A) Marjorie Sweeting
(B) Doreen Massey
(C) Susan Manson
(D) Gillian Rose

76. Which of the following geographic traditions
concentrates on the study of phenomena from the
perspectives of geometric elements like — point, line
and area?

(A) Area-study tradition

(B) Earth-science tradition
(C) Spatial analysis tradition
(D) Man-land tradition
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74. T ARAYHR T FTG Al I @3 AT
[FS[L DO e 2
Ol (FT4%E) Sifere-Il (2%)
(a) AGEA IS i) O o fereallfzr
(b) 518 Foea i) Troerx et
(c) o8 2 iii) COieetiffera ¢ @ 5if
OF GAS IO
ARG, ST
RIS G
(d) T pAA iv) W ZIFoE o
ARG @eelferexi=
a5 ¢

@ b © (@
A) i) D) iv) i)
B i) i) iv) i)
© iv) i) i) 1)
D D iv) i) i)

75. A M & KR CSICoNeTE 7= 2
(A) TR 2R
(B) ©fzs @It1
(C) P G
(D) foifere i

76. NI @ ST oI 221 enififes
T, 7 — T, @2 e e enfne AfaetEce
coTallfer [Ragaes f[eead 36 2

(A) CFE-91a4 4
(B) o-Re il

(C) iz farerael e
(D) WR-G A2
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77. The following two lists state the concepts in
geography and one of the most important contributors
to the development of that concept. Match the two lists:

List-1 (Concept) List-1I (Contributor)
(a) Humanistic Geography (i) Michael Foucault
(i1) Chombartde Lauwe
(ii1) Richard Peet

(iv) Yi-fu Tuan

(b) Social space
(c) Post-Modernism
(d) Radicalism in
Geography
Select the correct answer from the codes given:
Codes:
(@ () (© (@
@A) @ G @ (v
B) G G Gy @O
© @ @O () aGv)
D)  aGv) Gy (@) i)

78. Which of the following represents a model
constructed through inductive approach on the basis of
observed regularities?

(A) Priori Model

(B) Posteriori Model
(C) Normative Model
(D) Predictive Model

79. Spatiality, volatality and pluralism are the basic
tenets of
(A) Post structuralism
(B) Post modernism
(C) Structuralism
(D) Modernism
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77. 53 Sifere 9ot CSsiifer gl @ eima 2idiw
ARG N (e 27 | Yo SIfeTRhR ) e Al
Afow el S et ¢

Ol (4070) Al (27E7)
(a) R gl () T el
(b) AIE= Ao (i) TG (T ey
(c) SNgfwreTam (i) oIS 5

(d) geolieT (TERFom (iv) 2-F BAIN
5

@ () © @
(A) G Gi) G ()
(B) (i) () Gv) @)
© G () G Gv)
D) (v () @ (i)

78. A @ OB @D oAmfore A EFET
G ARAFACR 7 778 2

(A) 2 0T
(B) acSfaefd wces
(C) TS Tws
(D) cafefEe wea

79. RSl SFIRG @ ITGAV (I TSI 24
SIS
(A) SIS
(B) SyfcFesam
(C) S1Fam
(D) SnyfFeRm



80. Following lists show the philosophies and
associated guiding principles:

List-1
(Philosophies)
(a) Postmodernism
(b) Modernism

(c) Structuralism

List-11
(Principles)
(i) Code of production
(i) Simultaneity
(iii) Sequential analysis
(d) Post-structuralism (iv) Mode of production
Match the philosophies with the associated

principles selecting the correct option from the
following alternatives:

Codes:

@ ® © @
(A) (i G @i (v)
B) G G Gv) @)
© G aGv) @ @)
D) Gy @ G 3>Gv)

81. Which of the following is not a derivative of
analysis using DEM?
(A) Zonal Statistics
(B) Watershed delineation
(C) Topographic Position Index
(D) Slope

82. Which statistical procedure uses an orthogonal
transformation that converts a set of correlated variables
to a set of uncorrelated variables?

(A) Gaussian transformation

(B) Moran’s I

(C) Fast Fourier Transformation
(D) Principal Component Analysis

83. Flow map is not suitable for representing which
of the following data?

(A) Number of vehicles per hour.

(B) Volume of oil transported through pipeline
per day.

(C) Number of persons gathering in market
per week.

(D) Volume of water discharged through river
segments per annum.
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80. i3 Sifersel ybre ol vef ¢ 7117 Tfowfe
(o141 = ¢

Ol (747eT) @Il (VifS)
(a) SYfFeTam (i) (IS (AT
(b) SNyFFeRM (ii) ARTEGEG
(c) o1o=Tam (iii) PP
SRR
(d) SOEGTAM (iv) TG O (AT

iferet gfow ey R fefers 7w eaf vam
e

R ¢

@ @ © @
(A) i G @) Gv)
(B) @) @) aGv) @
(€6 i) @4v) @@ Gi)
(D) @G @G @G (@v)

81. Sta (@6 DEM fResiaces fefere sz wx?
(A) (E=E FTHATEA
(B) TerfqeifEn fofzewae
(C) Gitealifrs sifemis Zces
(D) Ti&

82. Npa @ AfIEE et san R
gy e TifFe verefTE SrrifFe vers sifaed
A2

(A) SRS GERFRGHIE

(B) G-I

(C) TP FRAR GERFGHIN

(D) f2ifStolE FCNETS SEiRhm

83. DA @I cSIalifers worga f[Resiad a4z sabeag
QI ILRLOCT A= T 1 ¢

(A) 2fS 9B aNfeR wam

(B) Tt 2 AfZoerizcTa sy «ifsize corwma
SiRon

(C) dreta 2ffs AR AT TePan
(D) #fs I%g w7 Wy M 2[ifTe weaitg
Sipion
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84. Assertion (A) : ANNOVA is preferred over 84. RIC (A): @CHE Y2 A SCOIET ‘oI5
‘t’ test where comparison eer-a9 st Vol FACO T,
between two or more a0 (53%6-9q Afgacs
population means are ‘ANNOVA’ 2leTy |
involved. .,

Reason (R) : Probability of committing ﬁ (R)z £ (BE s o \2, T R
Type I error accumulates qeCe AT Type-I' G949
when numbers of comparison S (P EERTE
in ‘¢’ test increases. (A) (A) € (R) ﬂ%’ @A (R), (A)-493 AT

(A) Both (A) and (R) are correct and (R) is the BURNN

correct explanation of (A). B) (A) 8 (R) ﬂ%, @A (R), (A)-99 o<
(B) Both (A) and (R) are correct, but (R) is not I 9T |

the correct explanation of (A). (C) (A) 7, € (R) e |
(C) (A) is correct, but (R) is not correct. (D) (A) &7, g (R) Al |

(D) (A) is not correct, but (R) is correct.

85. Among the following values of hypsometric 85. @ ReriGs faier T T sRalfzFE

integral, which one denotes minimum erosion of a TROE WWW&% G2
drainage basin area?

(A) 0-02
(A) 0-02 (B) 0-48
(B) 0-48 (C) 051
(C) 051 (D) 092
(D) 092
86. The Semi-interquartile range is preferred to the 86. fpife @RITe Soree CfeaHieR G EIf-
standard deviation as a measure of dispersion, when ORI (8 T ([T Aey 27 2
(A) the distribution is standardised (A) T 350 Brersizere
(B) the range is small (B) 7if<7 Reia @Gt
(C) the sample size is small (C) TN S (!

(D) the distribution is hightly skewed (D) 35 S Few

87. One nautical mile measures the arc-length 87. 9{?2@?{ @™ G0 (Fa WEE [ekice TRE
distance along the great-circle against Wthh Of the W q{ﬁmqw j\‘ilﬂ(f’{_ﬂ' (Mm/jcq; “lﬁ’@ﬂﬂ )“35'1 T | éji
following angular distances at the centre of earth? @ S ==

(A) 1 " (A) 1 n
(D) 3 n

(D) 3"



88. In a standard FCC of winter season, laterite
duricrusts are represented in

(A) Yellow
(B) Green
(©) Grey

(D) Brown

89. Inwhich of the spatial operators the output layer
will have more area than the individual input layers?

(A) Intersection
(B) Union

(C) Identity
(D) Clip

90. Which one of the following is widely used and
effective machine learning algorithm based on the idea

of bagging?
(A) Regression
(B) Classification
(C) Decision tree
(D) Random forest

91. The largest producer of chromite in India is

(A) Karnataka

(B) Odisha

(C) Chattisgarh

(D) Madhya Pradesh

92. Mawsynram of Meghalaya, the wettest place of
India, typically gets average annual rainfall of

(A) 400-600 cm
(B) 600-800 cm
(C) 800-1,000 cm
(D) > 1,000 cm
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88. MOFIA 92 FbICIC FCC-(s HIAILH
TIEFPOE eI (LI 27 2
(A) =1
(B) &
©) ¥
(D) <

89. (T IS TG~ SNTH{G B (Fae]
P30 27T BT FGTA S (@ 22
(A) THRER
(B) ZTfeae
(C) wIRefGf
(D) fFet

90. 3nfei yieNg Toig fofe a1 age @i @iia aTifele
SIS APoIFeId IIT© € 2ATNE ?

(A) faeami=

(B) Fififec=iia
(C) fefmia &
(D) WIS FC6

91. S LT (TG TeAWS ey 25
(A) 55
(B) fexit
(C) wfexiare
(D) AW

92. SRS A1 IR (IR (I PHeTce! IS
IfRoicen Afaiel 2

(A) 400-600 GfSt

(B) 600-800 (1t

(C) 800-1000 It
(D) > 1000 Gf
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93. Match the river basins with percent of India’s
land area drained by them:

River basins Percent of India’s land

area drained

(a) Kaveri (i) 09
(b) Pennar (i) 1-7
(c) Subarnarekha (i) 2-0
(d) Tapi (iv) 25
v) 41

Code:

(@ b @© (@
Ay Gv) @) @ ()
B  Gv) @ @ (i)
© v O @ (i)
O G @ Gv) (3iD)

94. In India, the type of drought measured in terms
of rainfall deficiency is called
(A) Climatological
(B) Meteorological
(C) Hydrological
(D) Agricultural

9S. Identify the correct north-to-south sequence of
landfall localities of the following tropical storms

(A) Hudhud, Laila, Yaas, Bulbul
(B) Yaas, Laila, Hudhud, Bulbul
(C) Bulbul, Hudhud, Laila, Yaas
(D) Bulbul, Yaas, Hudhud, Laila

X-28

93, Siva oifel yfoce T SRS €k ©RCed
ISR ST *I1* RN St (Fgeret (ST 24 |

SIfFTRIEGA N0y AN A4 I AF 5 5ol e
57 2 OIRCeT SINeIaT
SO NN
(a) IS G 09
(b) oI Gi) 17
(c) Al (i) 2-0
(d) wife (iv) 25
(v) 41
a7 ¢

(@ b © (@
A aGv) G @G 3D
B)  Gv) ) @ (i)
© v ®H G (i)
O Gy @ @Gv) (i)

e

DI\

94, SIS RIS T 2GeToR Tolers @ 4
341 =7, ©f =&
(A) SEERST®
(B) wqzrewTe
(C) Tuzre
(D) 3T

95. famafife el gfaroaiia shiwites s<Em —
e (U v @3 e fefere A Raafs Bz
e

(A) M, AR, 3T, I
(B) T, o], 2w, 19T
(C) TR, T2, ST, AT
(D) IETIE, B, T2, STl




96. Which of the following elements/factors are
considered while determining agro-ecological regions
in India?

1. Mean monthly temperature
2. Mean monthly rainfal
3. Type and quality of soil
4. Length of the growing period
(A) 1and2
(B) 3and 4
(C) 1,2and 3
(D) 1,2,3and 4

97. Which of the following crops in India exhibits
the highest per hectare yield?
(A) Wheat
(B) Rice
(C) Maize
(D) Bajra

98. Which of the following states of India possesses
remnants of tropical evergreen forest?
(A) Andhra Pradesh
(B) Madhya Pradesh
(C) Meghalaya
(D) Assam

99. In which of the decades mentioned below India
experienced a negative growth of population?

(A) 1901 — 1911
(B) 1911 - 1921
(C) 1921 - 1931
(D) 1931 — 1941

100. The National Waterway—2 of India stretches
between
(A) Sadiya and Dhubri
(B) Lakhipur and Bhanga
(C) Kakinda and Puducherry
(D) Kollam and Kottapuram
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96. ©RCed FR-ABRWINC G KOG g
@I @ T A EE @ e 22

1. o1% e wieigl
2. TG NP IRsire
3. Y& ol € PSR
4. oA ATIFIET )
(A) 192
(B) 3 @R 4
(€) 1,293
(D) 1,2,3 9K 4

97. SIS &I ANHETH 237 Al SoAWe FABE
e
(A) s
(B) 4=
(C) gl
(D) =t

98. FE Haete SHEma SINBIY SRTed &I
AN SRAFS ?
(A) SHATH
(B) Syeiet
(C) (IeT
(D) =TS

99, SIS TR AN i (Fley I ZCafeet 2
(A) 1901 — 1911
(B) 1911 — 1921
(C) 1921 — 1931
(D) 1931 — 1941

100. SRS TRolW T@wle-2’ @ 9o BIeTa e
o ?
(A) A @3k (&S
(B) =R%F @3 ef=i
(C) ifewl @R sl
(D) (RIS @3 FIGI7R
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